AP Calculus AB

   Section 3.1 & 3.3: Extrema and Increasing/Decreasing Intervals Day 1-3
1. For the function given below, identify the extrema and the intervals on which the function is increasing and decreasing. Discuss how this relates to the first derivative of the function. 
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2. Find the local extrema for the following functions. Identify the intervals on which the function increases and decreases. Justify your answers using the first derivative. Identify the asymptotes, intercepts, domain and range.
a)  
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3. Use the graph of f(x), to determine where f ’(x) is positive, negative and/or zero.
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4. Use the graph of the derivative function to estimate the intervals on which the original function is increasing or decreasing and the x-coordinates of all local extrema and their corresponding classification. 
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